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(1) 4x+8=-12

4x=-12-8
4x=-20
X=-5

(3) 10(3-x)=15-5(x+5)
30-10x=15-5x-25
-10x+5x=15-25-30

—-5x=-40
X=8
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(5) 4x+3 2x+2

3X+12=8x+2
3Xx—-8x=2-12
-5x=-10
xX=2
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(7) 0.3x+0.4=0.1x+1
3Xx+4=x+10
3x—-x=10-4

2X=06
Xx=3
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(1) 4:(x+5)=2:5
2(x+5)=20
2x+10=20

2x =10
X=5
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(2) 4(x-6)=-3(2x-2)
4x—24=—-6X+6
4X+6Xx=6+24

10x =30
Xx=3

(4) 4-2(3-2x)=2(3x-2)
4-6+4x=6x—-4
4X—-6Xx=—-4-4+6
—-2X=-2
x=1

(6) 2X=3 _9x—-7 _4
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4(2x-3)-5(9x—-7) =60

8x-12-45x+35=60
8x—45x=60+12-35

-37x=37

x=-1
(8) 0.2(x-5)-1.2(x—3)=-3.4
2(x-5)-12(x-3)=-34
2x-10-12x+36=-34
2x—-12x=-34-36+10

-10x=-60

X=6
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(2) 3:(3x-1)=1.5:4
1.5(3x-1) =12 o
15(3x~1) =120 J mE 10t
45x-15=120
45x=120+15
45x =135
x=3
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(4) x:5=(2x-3): 5

1 _3
7 (2X=3) =% D) Mg 4f
2(2x—3) = 3x
4X -6 =23X
4x-3x=6

X=6
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(1) xIZOWTHOHFFEAIX—a=1+3a DR x=—1D & X, aDfEERDE IV,
(2] x=—1%fA
3x(-1)—a=1+3a
—-3—-a=1+3a
—a—3a=1+3
—da=14
a=-1
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[f2] x=—6 #HA

3-2x(-6) -6+a_g 25+6-—a=30
3 65 -a=30-25-6
—6+a _
5— e =6 —-a=-1
W0% 5 1
C25—(--6+a)=30 a=1
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(2] ROZBA¥MEx B E, EHELE3DOBRABIIX—1) . x. x+D)&EBITS,

3DoDFMA 102 &Y,
(X=1+x+(x+1)=102
3x=102
X=34 (%) 34
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(2] 51X 6 HET50x6=300mELDT, ANHRETLHLE. REBDEIL300m THSB,
RRREHTH S XDRICHICEDDN-ET B & BT x5 T50xm EH . 5% 80xm
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300+50x=380x . 300m —~, — 50xm ~ ok
50x-80x=-300 > AN AN |7
~30x=-300 " i i ™
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[fR] 4 DDWEEFEILTHh 1y 13| 14| 15| 16 | 17 | 18 | 19
ADESIZHEL L.
w47 | x 48 20| 21 | 22 | 23| 24 | 25 | 26
X+(X+1)+(X+7)+(x+8)=84 27 | 28 | 29 | 30 | 31
X+ X+X+X=84-8-7-1
4Xx =68
x=17 (&) 17
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